GENERAL SCIENCE QUESTIONS / SAMPLE PAPER - 19

21. Match the following columns

fAFATATET T8 T fAee Y

Column 1 Column 2

(1). Bleaching powder/selif[ieT 91353 (a). Sodium bicarbonate/&I3TH FEHREAC

(2). Baking soda/afser &Yt (b). Sodium carbonate /AIf3T# FEfc

(3). Washing soda/&IisT ST &YST (c). Calcium oxychloride /hTerrTd HTFHFARSS
(4). Plaster of paris/CellEeX 3 IRA  (d). Calcium sulphate hemihydrate /& TerrRH Tethe

eHETSST

)—¢, (2)—a, (3)—b, (4)—d
)-a, (2)-b, (3)-c, (4)~d
)—b, (2)—c¢, (3)—d, (4)—a

)
|
) (1)—d, (2)—a, (3)—b, (4)—c

(A) (1
(B) (1
(C) (1
(D) (1
22. Choose the CORRECT statement regarding Ohm's law:

A & fAGH & AT A TEY HYA el

(1) It is valid for any circumstances, i.e. independent of temperature /ag fhar 8y aRTUfa &
forT AT §, 3rTa ar9gA= & Tadd

(2) Ohm's law is valid for all conducting materials /3713 & fags T3t Tareret @l & forw AT

3

(3) The temperature must be constant for validation of this law /3& ferge T gfee & o argereTr

e gt Tifgw

(4) All are wrong /8 3Teld &

Sol-

Since ohm's law is only valid for constant temperature. If we change the temperature then the
resistance of the conductor will change and that will change the relationship between current
and potential difference. So statement 3 is correct and statement 1 is wrong. So option 3 is
correct. It is only valid for ohmic resistance. So statement 2 is not correct.

qfer 30 &7 e Faer R a9 & e & A giar &1 3 &1 drIATeT sgerd & ot Fsde &
GfRIer sger SITUaN 3R 38d adATe 3R FH1fad 3R & ST A9 deof S| 31d: FUA 3 el
& 3R FUT 1 ITad &1 37T: AeheT 3 TET &1 Tg Fhao 3RS 9faer & v A7 &1 37 I 2
]

23. The potential difference between the terminal of an electric heater is 60 V when it draws a
current of 4 A from the source. What current will the heater draw if the potential difference is
changed to 127.5 V?

Teh el E1eT & iieTel & e HHTTAT 3T 60 V § 519 Ig Wi & 4 A T aRT dieretm &1 afe

Tefad AT P 127.5 V H Sof 16T ST df §leX T 9URT Wiaam?
(1)8.5A

(2) 24 A

(3) 10 A

4)12 A

Sol-
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Given that:

In first instance, V = 60 volts, | = 4 Ampere

Therefore, Resistance (R) = V/I = 60/4 = 15 Ohms

In second instance, V = 127.5 Volts and R (as calculated above) = 15 Ohms.

Therefore, Current (I) = V/R = 127.5/15 = 8.5 Ampere.

Q24. Urinary System
EERLICH

The "A" arrow points to the:

"7 AR 3R T &
a) adrenal gland/TfgsTer 3T
b) cortex /HréFT
c) ureter /FFATEsAT

d) glomerulus /FtA%e T
Sol-

ADRENAL GLAND

_ Adrenal
d gland Capsule

Medulla A Cortex
Blood

vessels
Kidney

Q25. The structure labeled "B" is the:
ST ST aTell LT &
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a) Cortex/aiceFa

b) Bowmans Capsule /ST#sT &l $Hgel
c) Collecting Duct /GIgUT ATorehr

d) Nephron /oI

Q26 Which of the following statements about the given reaction are correct?
S S yiafrar & TR H Reaf@a F sl arsaa agr 2

3Fe(s) + 4H20(g) — Fe304 (s) + 4H2 (g)

1. Iron metal is getting oxidized. /elig 41 1 3T oT 8T ET &

2. Water is getting reduced. /dT=iT &3 & T g
3. Water is acting as reducing agent. /STel 3T9aTd & &9 H HI T ET &

4. Water is acting as oxidizing agent. /STel 3iTFHIRe & FT H HrT T ET &

(@)1,2and 3

(b) 3and 4

(c)1,2and 4

(d)2and 4

Sol-

Addition of oxygen to Fe is an oxidation process whereas lose of oxygen from H20 to H2 is a
reduction step. Since water is source of oxygen therefore it acts as oxidizing agent.

Fe & 3iaEolel &l AT Teh 3HTFTehIor YfehaT & Safeh H20 & H2 des 3iTardelel &l g19 T
AT TROT | b TTeit 3HTeFHISTel T Hd & SHTAT TG MFAIRL0T Tolc & &9 H R T ¢ |

Q26. What is a tonoplast?
Teh CIATCTES T 872
A. Outer membrane of mitochondria /ATSEIhifogaT FI TR Brealr
B. Inner membrane of chloroplast /FaRICATEE ST HIa’T Bealr
C. Membrane boundary of the vacuole of plant cells/ 9rgq SITAHI3IT & RiFdahr ST Bealr
AT

D. Cell membrane of a plant cell /916 hIfehT ST HIfAHT el
Sol-
Tonoplast is a single membrane that bounds the vacuoles and separates it from cytoplasm.
In plants, tonoplasts facilitate uphill transport of many ions and other materials, making their
concentration higher in vacuole than cytoplasm.
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AICATES Teh Tahel [S¥eoll § Sl RiFdenT ot STerc & 3R 30 ATseicaied & 37097 il g1 aiet
#, ST $8 =T 3 317 AT & FO A1 3R IRaget T gam verT #d &, fFad
AISEICATSH T Jofall H Richelehl H SoTehl Higell 3TeIh 81 SiTehl ¢ |

Central Yacuole

®
o ___Ribosome
‘w" “Tonoplast
| Membrane

| \ 1/ \ [
A b s

Q27. Number of groups present in the long form of the periodic table are.
A AR & 9 &9 7 3uRyd Gefgl H FEar |
A. 16
B. 9
C. 2
D. 18
Sol-
There are seven (7) horizontal rows in this periodic table called periods. Thus, there are
seven periods in this periodic table.
The modern periodic table of the elements contains 18 groups, or vertical columns.

39 37Tad RO & T@1d (7) fast dfFaar & fSieg 3mad Sl S1ar §1 39 9K, 3 3Tad arol 7
qrd 3Mad g |
ccdl & 3MeIfeleh 31Tarct AR & 18 HHE IT oldad TsT & |

Mitochondria

1 18
I IUPAC Group—=1 VIII
AE 2 Main Group —1 13 14 15 16 (17 | 2
H| & ] A Nomb m v v |vi i |He
~1— Atomic Number
3 4 Period—1 5 6 7 8 5 || 10
2 | L || Be H—=— Symbol Bllc|[n||o]flF||lne
3 11 12 13 14 1 16 17 18
Na Mg 3 4 5 6 7 8 9 10 11 117 Al Si P S cl Ar
a 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
K Ca Sc Ti v Cr ||Mn|| Fe || Co Ni Cu||Z2n||Ga||Ge || As Se Br Kr
5 37 40 41 42 43 44 45 46 47 48 49 50 51 52 55 54
Rb Zr ||Nb||Mo|| Tc ||Ru||Rh||Pd||Ag || Cd || In || Sn || Sb || Te I Xe
6 55 72 73 74 75 76 77 78 79 80 81 82 83 84 85 86
Cs Hf || Ta || W || Re || Os || Ir Pt || Au || Hg || TI Pb Bi Po || At || Rn
7 87 104|]105||106||107||108 || 109|110 | 111|112 ||113||114||115||116||117||118
Fr e Rf ||Db||Sg||Bh||Hs || Mt||Ds||Rg || Cn ||Uut|| FI ||Uup|| Lv ||Uus||Uuo
1 1

57 58 59 60 61 62 63 64 65 66 67 68 69 70 Lanthanoids
La Ce Pr||Nd||Pm||Sm||Eu||Gd || Tb || Dy || Ho Er ||Tm || Yb
Rare Earth Metals
89 S0 91 92 93 94 95 96 97 98 99 100||101||102
Ac || Th || Pa u Np || Pu |[|Am||Cm || Bk || Cf || Es ||Fm || Md || No | Actinoids

Q28. The electronic configuration of an ion M2+ is 2,8,14. If its mass is 56 , number of
neutrons in its nucleus is
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3T M2+ Sl Slareiioleh TdedTH 2,8,14 &1 ATE SHHT GeTATT 56 §, Al 38 AT H 72l
N EEAT &
A. 30
B. 32
C. 34
D. 42
Sol-
Atomic number of the metal (Z) is 26.

number of neutrons =A -7
=56 —-26 =30

Q29. The lymph serves to
oTETeRT 1 T &
A. Return the interstitial fluid to the blood /ReFd # 3TARTNT &d I ATTH F &
B. return the WBCs and RBCs to the lymph nodes /WBCs 3R RBCs & fole® Algq &
oI I &
C. transport CO2 to the lungs /%I H CO2 IRagT &

D. transport O2 to the brain /02 I AEdSH b of STl
Sol-
Lymph (also called tissue fluid in the intercellular spaces) is the colourless liquid found within
the lymphatic system. An important function of lymph is to return interstitial fluid back to the
blood. The interstitial fluid is the filtered form of the blood without the cellular components
and plasma proteins.
AR (ITRPITARIT TUTAT H Fcieh gd 3T el ST §) LRI JUTTell o $Td< 91T STt aTell
TTENT oo g | SITRT &1 Teh HEcaqUT SR Tl gd ! o H aT9H oliere & | drerarer ga

YeloR el IR CATTHT WET o 3T el &l Thoes §9 8

Q30. A girdled plant in which phloem is removed, may survive for some time but it will
eventually die, because

Teh haXec Ui [SEs Feilus ger fear Sire €, $© 6 oo Shfdd 3§ Tohll ¢ dHfehet 3ica: #X
SITQET, Fifh
A. water will not move downwards /91T Sl AT SITTIT
B. water will not move upwards /9T 9 sT6T STTIT
C. sugars and other organic materials will not move downwards /2T 3R 3T Fafas
Terd s T 3R 8T dgar
D. sugars and other organic materials will not move upwards. /QIRT 3R 3T Fefaedn
TeTY FW T 3R LT T&T |
Sol-
In girdling or ringing experiments (Malpighi, 1675), a ring of bark is cut from the stem.
It also removes phloem.
Nutrients collect above the ring where the bark also swells up and may give rise to
adventitious roots.
Growth is also vigorous above the ring.

The tissues below the ring not only show stoppage of growth but also begin to shrivel.
Roots can be starved and killed if the ring is not healed after some time.
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Killing of roots shall kill the whole plant clearly showing that bark or phloem is nvolved in the
movement of organic solutes towards root.

HAISG, AT FoTed dTel FA (HATTUTEY, 1675) H ol A BTl T Ueh Sooll Shlel STl g |

Ig FelluA o off geraT 8|

ek ded dold & I STHAT 81 ST ¢ STaT oTel T ot STl § 3R 31faferd STst ot stedt & Feavelt
el

faenre ot T & IR SRER B

TolT & AT o Jcleh of shd el [dehTE oY Ashdl ¢ dfeeh APt o91d &

3R & GHY dTe; N7 bl Sieh AgT TohaT IAT AT 575 7Y T6 ool & 3 A Fehell £ |

TSt &l AR @ QX 919 hr g 81 Sesh, Ig TIse &9 A Q@0 o STer AT FellUA FHrefeieh
ferg & 513 1 3R a1fa 7 anfAer g

Q31. Which of the following are isotopes?

farafoi@aa &7 & &l gaeafas &2

Oxygen and Ozone /3iTFdIsie 3T 3T

Ice and Steam /&% 3R #1197

Nitric Oxide and Water /aTsfee 3iferamss 31k ar=r
. Hydrogen and Deuterium /gT$gtsiel 3R 3g¢RAA

oo w >

Sol-

Isotopes are elements with same atomic number but different mass number. Hydrogen and
Deuterium are isotopes with same atomic number but different mass number. Hydrogen
have atomic number 1 and mass number 1 where as deuterium have atomic number 1 but
mass number 2.

FHEYT(Ieh Teh & GLAT] shHieh ol feha] et GedHTel HET aTel oled Bl & | BT8grolet 3R
SYERIA FHATA A shATeh Afehet [Heet GeudlTeT T&AT aTel FHEUIAS & | gTSZIeTol T TATI]
SheTeh 1 3R SeT AT HEAT 1 §IelT &, STeifeh SYERIHA T TRAT] sheAieh 1 Afehel geg AT HEAT 2
giar gl

Q32. Ptyalin cannot work in stomach, because it becomes
9¢ H UcaTfeled FIA 8l X Fehdl, FiTh TG de1 ST §

A. Inactive due to HCI /HCI & &RoT fafSshar

B. Inactive due to Renin RfelsT & HROT [AfSha

C. Inactive due to Pepsin /A8 & HRUT A TShT

D

. None of these /843 & HIg TgT
Sol-
The amylase of the salivary gland (ptyalin) is inactivated by stomach acid. When food enters
the stomach it is first stored in the fundus of the stomach and not mixed with acid, so ptyalin
can carry on acting until mixing with stomach acid takes place. Amylase works in the pH of
6.9, whereas the pH in stomach is 2. Amylase cannot work under such acidic pH.

UT & el GaRT R I (CATToIeT) T TATS otot FATSHT 81 ST & | ST #9Ytet 9 3 Jaer &l &
oY IE Tgl UT & HIY F AT g1 ATl § 3N vfls & @y fAfda 781 gien 8, safev de A vfds &
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rer fAST gl deh IrsioleT 3fRTT T TohdT &1 THSAST 6.9 & U 7 I HdT &, STdieh e
# Ao 2 1 TATSHST U 3T Q10T & dgd e Tg81 Y T

Q33. Fat is digested by the enzyme
JHT T YTl USATSH GaRT 8l &

A. Amylase /THISST

B. Pepsin /aftqeT

C. Trypsin /fcfeqeT

D. Lipase /aTgust
Sol-

For example, lipase aids in fat digestion, while amylase helps break down carbohydrates,
bromelain, and papain. Bromelain and papain are both enzymes that help break down
proteins.

3CTEI0T & [T, SS9 9dT & UTel H HETIAT AT §, STdih THS oISl Fleigsae, Sidel 3R
g T A5 F A PAT & | fHoleT 3R T It TSH § S NN T dlsal H A ¢

Intestinal lumen Epithelial cell layer Lacteal
Fat globules l
(lipids) . |
Micelles £ Froein |
an Free fatty acids ."w | |
+ ¥ g (monoglycerides) “ - + /
b ] 3
. . L
a" " Digestion + b N\ Triglyceride
1 E : by lipases
- mulsion .

" droplets n® |
Bile Bile _'. u : |
salts salts 8ile ™ Chylomicrons J

e 4 . -
salts Secretory / -
vesicle "
Triglyceride
Lipase
1, 2-Diglyceride + Fatty Acid............... I
Lipase

2-Monoglyceride + Fatty Acid

Isomerisation}, .......... 1
1-Monoglyceride

. A

v
Glycerol + Fatty Acid .o it

Q34. The temperature of a block of iron is 140°F. Its temperature on the celsius scale is:
g & Ueh I[ceh ol ATTATST 140°F BIdT & | Afcaad 4T W S8 AT9AT &

32°C

60°C

108°C

140°C

CoOow>

Sol-
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0C = 5(°F — 32)

T°C = 2 (140°F — 32) = 0.556 = 108

TC = 60°C

35. Which of the statements given below is/are correct? /AT f&T 31T =T H & i AT AL &

18?
1.

N

oW

Sol-

Hydro power plants convert the potential energy of falling water into electricity. /gT83t

qTeR Telle 9Tt TReT ST FH1fad FaiT ot forstell & gRafdd atd & |
Construction of big dams generates greenhouse gas. /a3 ST & fATOT & IFTe3@ 3T

3o BT g

1 only

2 only

Both 1 and 2
Neither 1 nor 2

Large ecosystems get destroyed when submerged under the water in dams.
The vegetation which is submerged, rots under anaerobic conditions and gives rise to large
amounts of methane which is a greenhouse gas.

et 2 o1l ¥ o1 55 oY R 93 IR o avve 8 o &

TAETT ST STelHae &, argdiy aRIEfaat 7 gach § 3R 981 AT 7 M &1 5w S g &
T A3 T g

Q36. Which of the statements given below is/are correct? /=il< f&T 31T HU=AT #7 T ieT AT Tar

g/8?
1

In the nuclear fission, the nucleus of a heavy atom can be split apart into lighter nuclei.

| [ORATY] TaES H, Teh R GRATY] o ATk T goehl AT A [IHTII ThaT ST Hehell B

oow»

In a nuclear reactor designed for electric power generation, nuclear ‘fuel’ releases

energy at a controlled rate. /fdegd el 3cdTee & v fSeTsT fohw 1T GRATO] Ruarex
#, TATI] ‘ST Teh G G TR SFofl TR el g |

1 only

2 only

Both 1 and 2

Neither 1 nor 2

Q37. Hydrogen bomb is based on which of the following reactions?

gIsgiotel oA foieafaf@d & & fha gfafsar ov smenia g7

oo w >

Sol-

Controlled fusion reaction /fafaa Terzret ufafsmar
Thermonuclear fusion reaction /AH{gfFeraX HerdeT Slcshar
Controlled fission reaction /I fa@s gfafsar
Thermonuclear fission reaction /aH{=gfFeraT fa@ssT Tidfhar
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Hydrogen bomb is based on nuclear fusion. A large amount of nuclear energy is released by
fusion of two light elements (elements with low atomic numbers).

BISSIoTel S YLATY] Heldel TR TR &1 & Fehler dedl (o TRATY] HEAT dTel ced) & Hordel
SIS AET A AT Ssit kel &1

Q38. The antibiotic penicillin is obtained from which of the following?
et Afafafedd AeAfaiad # & fad gred gar g2

Synthetic Process /f&afees gfshar

A Bacterium /Teh Sfiaroy

Fungus /W

Virus Infected Cells /aTa0H HshfAd HIfIhd

OO0 w >

Sol-
Antibiotics affects and interferes with the metabolic cycle of the fungus and ultimately Kkills it.
The antibiotic penicillin is obtained from Penicillium notatum or P. chrysogenum (fungus).

TR FT shdeh & IATITT Tsh ! TTTad 3R 1fra ear & 3R 3iaa: s@ AR ear gl
Taerifes afRfafes afRfafes Aees ar @ FsaeaH (Faw) J ed giar g

Q39. Atomic number of an atom gives the number of which of the following?
IATO] T IATY] HEAT o=t ferd # & foraehr weam & 87
A. Electrons /Solagisir
B. Protons /dicTeT
C. Neutrons /#gglel
D. Neutrons And Protons /=ggIs 3T deis

Sol-

The atomic number is the number of protons in the nucleus of an atom. The number of protons
define the identity of an element (i.e., an element with 6 protons is a carbon atom, no matter
how many neutrons may be present).

TRHATY] Sheieh Teh TRATI] & &AT1Teh F HICisT &l HEAT §| el T HE&IT Teh ded Sl Tgalel
ARHTTT AT & (TT=AT, 6 TeleT aTell Ueh cled Sleed TAT] &, TTg fohelel =gglel Alope &)

Q40. For which one of the following, ‘Diodes’ are generally used for?
farafofaa &7 & fhas T, s™Ea AR W) 393197 fh Sa 82

Rectification
Amplification
Modulation

. Filtration

cow>

Sol-
Rectifier diodes are used for changing alternating current into direct current.

IFCHRR A0S Y TeATadT URT Y TogeT &RT 7 Ieelel & [T 39T f&ham Srar 8|



